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Introduction

11 Objectives
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1.2 References

T3_2015_SRA_3.0
T3_2015_SDS_1.0

Unit test case specification

2.1  Test case specification identifier

Identifier

Input Specification

Output Specification

Team3_NPS_000_000

Network Data =
{"Admi", "usrcheck”,\0}
Account Storage =
{"Admin"}

Username X 2+

Team3_NPS_000_001

Network Data
{"Admin”"usrd”\0}

Account Storage =

Command A @F

{"Admin"}

Team3_NPS_000_002 Network Data = TargetUsername
{*Admin”, e o4
"usradd”"12345678900"}
Account Storage =
{"Admin"}

Team3_NPS_000_003 Network Data = TargetUsername
{"Admin”, "usradd”,""} el o

Account Storage =
{"Admin"}

Team3_NPS_000_004

Network Data =
{*Admin”, “usradd”"A"}
Account Storage =
{"Admin"}

Account Order =
{"usradd”}
TargetUsername =
(A

Account Storage =
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{"Admin”, "A"}
Team3_NPS_000_005 Network Data = TargetUsername
{"Admin”, "usrdel”, "B"} s oFf

Account Storage =
{"Admin”, "A"}

Team3_NPS_000_006

Network Data =

Account Order =

{"Admin”, “usrdel”, "A"} {"usrdel"}
Account Storage = TargetUsername =
{"Admin”, "A"} {"A"}
Account Storage =
{"Admin"}
Team3_NPS_000_007 Network Data = Listed Account Data =
{"Admin”, “usrcheck”, \0 } {"Admin”, "A"}

Account Storage =
{IlAdminlI’ IIAII}

Team3_NPS_000_008

Network Data =
{*Admin”, “refill", \O }
Account Storage =
{"Admin"}

Verified Data =
{"Admin”, “refill*, \O }

Team3_NPS_000_009

Network Data =

{"Admin”, "prin”, "test.txt" }
Account Storage =
{"Admin"}

Command A @F

Team3_NPS_000_010

Network Data =

{"Admin”, "print”, "testtxt” }
Account Storage =
{"Admin"}

Filename X Q& @F

Team3_NPS_000_011

Network Data =
{"Admin”,

“print”, "testl.txt” }
Account Storage =
{"Admin"}

Filename X @3

Team3_NPS_000_012

Network Data =

{"Admin”, "print”, "test.txt” }
Account Storage =
{"Admin"}

Verified Data =
{"Admin”, "print”, "test.txt” }

Team3_NPS_000_013

Network Data =
{*Admin”, “stop”, \O}

Verified Data =
{*Admin”, “stop”, \O}
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Account Storage =
{"Admin"}

Team3_NPS_000_014

Network Data =
{"a", "print”, "test.txt"}
Account Storage =

{"Admin”, "A"}

Username Az @3

Team3_NPS_000_015

Network Data =
{"A", "usradd”, "B"}
Account Storage =
{"Admin”, "A"}

Command Qs @F

Team3_NPS_000_016

Network Data =
{"A", "usrdel, "B"}
Account Storage =
{"Admin”, "A"}

Command XY @

Team3_NPS_000_017

Network Data =
{"A", "usrcheck”, \0}
Account Storage =
{"Admin”, "A"}

Command XY @

Team3_NPS_000_018

Network Data =
{"A", "refill", \O}
Account Storage =
{"Admin”, "A"}

Command X @F

Team3_NPS_000_019

Network Data =

{"A", "prin”, "test.txt” }
Account Storage =
{"Admin”, "A"}

Command A @F

Team3_NPS_000_020

Network Data =

{"A", "print”, "testtxt" }
Account Storage =
{"Admin”, "A"}

Filename X Q& @F

Team3_NPS_000_021

Network Data =

{"A", "print”, "testl.txt" }
Account Storage =
{"Admin”, "A"}

Filename R QU 7

Team3_NPS_000_022

Network Data =

{"A", "print", "test.txt" }
Account Storage =
{"Admin”, "A"}

Verified Data =
{"A", "print", "test.txt" }
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Team3_NPS_000_023

Network Data =
{"A", “stop”, \O}
Account Storage =
{"Admin”, "A"}

Verified Data =
{"A", "stop”, \O}

Team3_NPS_001_000

Verified Data =

{"Admin”, "print”, "test.txt"}

Pause Data = {False}
Print Now = {\0}

call Write Print Queue
Extracted Verified Data =

{"A", "print", "test.txt"}

Team3_NPS_001_001 Verified Data = call Stop
{*Admin”, “stop”, \O}
Pause Data = {False}
Print Now = {\0}
Verified Data = call Refill

Team3_NPS_001_002

{"Admin”, "refill", \0}
Pause Data = {False}
Print Now = {\0}

Team3_NPS_001_003

Verified Data =

{"A", "print", "test.txt"}
Pause Data = {False}
Print Now = {\0}

call Write Print Queue
Extracted Verified Data =

{"A", "print", "test.txt"}

Team3_NPS_001_004 Verified Data = call Stop
{"A", "stop”, \O}
Pause Data = {False}
Print Now = {"Q1"}
Team3_NPS_001_005 Verified Data = call Stop

{\0, \0, \0}
Pause Data = {True}
Print Now = {"Q1"}

Team3_NPS_001_006

Verified Data =

{\0, \0, \0}

Pause Data = {False}
Print Now = {\0}

call Write Print Now

Team3_NPS_001_007

Verified Data =
{\0, \0, \0}

Pause Data = {False}
Print Now = {"Q1"}

call Print

Team3_NPS_002_000

Extracted Print Data =
{"A", "print", "test.txt"}
Material Storage Data =
{Ink=0, Paper=0}

Print Queue =

Network Message =
{*Can’t Print"}
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{”Ql”, IIQ2II, IIQ3II' IIQ4II’
IIQSII}

Team3_NPS_002_001

Extracted Print Data =
{"A", "print", "test.txt"}
Material Storage Data =
{Ink=3000, Paper=0}

Print Queue =
{"fQ1", "Q2", "Q3", "Q4’
Q")

Network Message =
{*Can’t Print"}

Team3_NPS_002_002

Extracted Print Data =
{"A", "print", "test.txt"}
Material Storage Data =
{Ink=0, Paper=100}

Print Queue =
{"fQ1", "Q2", "Q3", "Q4’
IIQSII}

Network Message =
{*Can’t Print"}

Team3_NPS_002_003

Extracted Print Data =
{"A", "print", "test.txt"}
Material Storage Data =
{Ink=3000, Paper=100}

Print Queue =
{llQlII’ IIQ2H’ IIQ?)II' “Q4",
IIQSII}

Network Message =
{*Can’t Print"}

Team3_NPS_002_004

Extracted Print Data =
{"A", "print", "test.txt"}
Material Storage Data =
{Ink=0, Paper=0}

Print Queue =

{quu’ ”QZH, IIQ?)II’ “Q4H, \0}

Network Message =
{*Can’t Print"}

Team3_NPS_002_005

Extracted Print Data =
{"A", "print”, "test.txt"}
Material Storage Data =
{Ink=0, Paper=0}

Print Queue =

{"Q1", "Q2",\0, \0, \0}

Network Message =
{*Can’t Print"}

Team3_NPS_002_006

Extracted Print Data =
{"A", "print", "test.txt"}
Material Storage Data =
{Ink=0, Paper=0}

Print Queue =

Network Message =
{*Can’t Print"}
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{”Ql”, IIQ2II, IIQ3II' IIQ4II’
IIQSII}

Team3_NPS_002_007

Extracted Print Data =
{"A", "print", "test.txt"}
Material Storage Data =
{Ink=3000, Paper=0}
Print Queue =

{”Ql”, IIQZII’ IIQ3II’ IIQ4II' \O}

Network Message =
{*Can’t Print"}

Team3_NPS_002_008

Extracted Print Data =
{"A", "print", "test.txt"}
Material Storage Data =
{Ink=3000, Paper=0}
Print Queue =

{"Q1", "Q2",\0, \0, \0}

Network Message =
{*Can’t Print"}

Team3_NPS_002_009

Extracted Print Data =
{"A", "print", "test.txt"}
Material Storage Data =
{Ink=3000, Paper=0}
Print Queue =

{\0,\0, \0, \0, \0}

Network Message =
{*Can’t Print"}

Team3_NPS_002_010

Extracted Print Data =
{"A", "print", "test.txt"}
Material Storage Data =
{Ink=0, Paper=100}
Print Queue =

{quu’ ”QZH, IIQ?)II’ “Q4H, \0}

Network Message =
{*Can’t Print"}

Team3_NPS_002_011

Extracted Print Data =
{"A", "print", "test.txt"}
Material Storage Data =
{Ink=0, Paper=100}
Print Queue =

{"Q1", "Q2",\0, \0, \0}

Network Message =
{*Can’t Print"}

Team3_NPS_002_012

Extracted Print Data =
{"A", "print", "test.txt"}
Material Storage Data =
{Ink=0, Paper=100}
Print Queue =

{\0,\0, \0, \0, \0}

Network Message =
{*Can’t Print"}

Team3_NPS_002_013

Extracted Print Data =
{"A", "print", "test.txt"}
Material Storage Data =

Print Queue =

{"Ql", IIQ2II, IIQ3II,

IIQ4II,
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{Ink=3000, Paper=100} "Q5"}
Print Queue =
{"Q1", "Q2", "Q3", "Q4", \0}
Team3_NPS_002 014 Extracted Print Data = Print Queue =

{"A", "print", "test.txt"}
Material Storage Data =
{Ink=3000, Paper=100}
Print Queue =

{"QL", "Q2",\0, \0, \0}

(Q', "Q2', "Q3",\0,\0)

Team3_NPS_002_015

Extracted Print Data =
{"A", "print", "test.txt"}
Material Storage Data =
{Ink=3000, Paper=100}
Print Queue =

{\0,\0, \0, \0, \0}

Print Queue =
{"Q1",\0, \0, \0, \0}

Team3_NPS_003_000

Print Queue =
{llQllI’ IIQ2II’ IIQ3II’ IIQ4II’
IIQSII}

Print Now = {*Q1"}
Print Queue =

{"Q2", "Q3", "Q4", "Q5", \0}

Team3_NPS_003_001

Print Queue =

{quu’ ”QZH, IIQ?)II’ “Q4H, \0}

Print Now = {*Q1"}
Print Queue =
{IIQ2H’ IIQ3II, IIQ4II’ \O’ \O}

Team3_NPS_003_002

Print Queue =
{"Q1", "Q2", "Q3",\0, \0}

Print Now = {*Q1"}
Print Queue =
{"Q2", "Q3",\0, \0, \0}

Team3_NPS_003_003

Print Queue =
{"Q1" "Q2",\0, \0, \0}

Print Now = {*Q1"}
Print Queue =
{"Q2",\0, \0, \0, \0}

Team3_NPS_003_004

Print Queue =
{"Q1",\0, \0, \0, \0}

Print Now = {*Q1"}
Print Queue =
{\0, \0, \0, \0, \0}

Team3_NPS_004_000

Print Now = {*Q1"}

Print Now = {\0}
Print Command =
{*currenttime.txt”}
Display Command =
{status=1}

Material Command =
{Ink-=100, paper-=1}

Team3_NPS_004_001

Print Now = {*Q2"}

Print Now = {\0}

Print Command =
{*currenttime.txt”}
Display Command =
{status=1}

Material Command =
{Ink-=1000, paper-=3}
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Team3_NPS_005_000 Trigger Print Now = {\0}
Display Command =
{status=3}
Team3_NPS_006_000 Trigger Display Command =
. {status=2}

Material Command =
{Ink=3000, paper=100}

<Table 1 Test Case Specification>

[

El
=

2.2 Test items

<Table 1 : Test Case Identification> &t=&
2.3 Input specifications

<Table 1 : Test Case Identification> %%
24  Output specifications

<Table 1 : Test Case Identification> & =X
Environmental needs
NPSO| unit testS 9|3+ BHEE QTARSS T3t ZCh
(1) IDE : Code Blocks
(2) Cygwin
Unit test summary report

4.1 Test summary report identifier

Test case Identifier Result
Team3_NPS_000_000 Pass
Team3_NPS_000_001 Pass
Team3_NPS_000_002 Fail
Team3_NPS_000_003 Pass
Team3_NPS_000_004 Pass
Team3_NPS_000_005 Pass
Team3_NPS_000_006 Pass
Team3_NPS_000_007 Pass
Team3_NPS_000_008 Pass
Team3_NPS_000_009 Pass
Team3_NPS_000_010 Pass
AE &) 000 Team
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Team3_NPS_000_011 Pass
Team3_NPS_000_012 Pass
Team3_NPS_000_013 Pass
Team3_NPS_000_014 Pass
Team3_NPS_000_015 Pass
Team3_NPS_000_016 Pass
Team3_NPS_000_017 Pass
Team3_NPS_000_018 Pass
Team3_NPS_000_019 Pass
Team3_NPS_000_020 Pass
Team3_NPS_000_021 Pass
Team3_NPS_000_022 Pass
Team3_NPS_000_023 Pass
Team3_NPS_001_000 Pass
Team3_NPS_001_001 Pass
Team3_NPS_001_002 Pass
Team3_NPS_001_003 Pass
Team3_NPS_001_004 Pass
Team3_NPS_001_005 Fail
Team3_NPS_001_006 Pass
Team3_NPS_001_007 Pass
Team3_NPS_002_000 Pass
Team3_NPS_002_001 Pass
Team3_NPS_002_002 Pass
Team3_NPS_002_003 Pass
Team3_NPS_002_004 Pass
Team3_NPS_002_005 Pass
Team3_NPS_002_006 Pass
Team3_NPS_002_007 Pass
Team3_NPS_002_008 Pass
Team3_NPS_002_009 Pass
Team3_NPS_002_010 Pass
Team3_NPS_002_011 Pass
Team3_NPS_002 012 Pass
Team3_NPS_002 013 Pass
Team3_NPS_002_014 Pass
Team3_NPS_002_015 Pass
Team3_NPS_003_000 Pass
=] OO0 Team

=
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Team3_NPS_003_001 Pass
Team3_NPS_003_002 Pass
Team3_NPS_003_003 Pass
Team3_NPS_003_004 Pass
Team3_NPS_004_000 Pass
Team3_NPS_004_001 Pass
Team3_NPS_005_000 Pass
Team3_NPS_006_000 Pass

4.2  Evaluation

Total test case : 57

Passed : 557§

Failed : 27|
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